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TAKE HOME FINAL #2
Semester Review WS #1

" Will make up 10 points on the final . . . graded on
accuracy

Factor completely :
(@) x> -7x-60 (b) 4x* +20x-24 (c) 16x*-56x+49 (d) 16n* — 64 .
(x=1D(x35) 4Dy (Ux-#)* 16 (n*+2 )(n>2)

Write a quadratic equation whose roots are — Sand 7 € (X\ = (x+S)x- ?'\ = X522 x-S

. - _oM»% :
. Theroots of x> +3x—8=0 are X~ 3_:_._(5-\ or ""5_ A= @-
E— 2 2z

For the function f(x)= x> —5x+6,the zerosare? X =72, 3

Write the solution of x? +x+5=0. 6. What is the value of v/—16 -4/—25 ?
X = "‘\i = ‘C‘,;‘L_ — 20
Simplify: (4 +3i)+2(3-5i) 8. Find the product of (2 +4i)4 - 3i)
10— | 20 +\0)
. -3
Find (51°)(~2°)(~4*) 10, Splity ; 2= 11, (i) - 125
8+2i 5 o4
—_ A oA
Ko L =i
2 2 m = Z-__
What would you add to x“ —5x+ /4 to complete the square? -S
Y-5= E- (% -2)
What is the equation of the line which passes through the points (2,5) and (-3,7)? o,

-=mZ (X¥3
: : : : 2 : Yt (43}
Write an equation of the line that is parallel to y = gx— 4 going thrangh the point (-3, 5). Write
your answer in slope-intercept form. gj—g__._ Z'é CX“’%B ﬂ |

Write an equation of the line that is perpendicular to y = —i—x— 4 going through the point (-3, 5).

Write your answer in point-slope form. ) - 5-;’16( 4_.53 50 =C§—C)8 ?O:(B-\-c\ |
ﬂ = lo=8-C R B
2022

A boat travels 80 miles downstream in 4 hours. It makes the return trip, against the current,in g . \¢

twice the time. What is the speed of the curren P

State whether each vertex is a maximum or a minimum 18. Solve: % 6x — —;—l =9

A) y=5x2_2 Mintmonn X= "2‘_.% or%

B) y=-2(x+ 4)2 +9 MAXimun 19. Convert 60 km/h to meters/s

@) y=,}(x—5)2—4 MiNIMUA * @tmx |000mx \ hoor 5%,
Nouvr VKM 3600 Sec 35(./3

\6%/2, ) §



20. You wish to purchase a 14 pound bag of mixed nuts. Peanuts are $5.00 per pound and almonds
are $6.00 per pound. How many pounds of peanuts should you buy if the entire bag costs $74?

\O \os

21. What is the vertex of y =2(x+3)> =102 :
7 (3,-0) plx 5
22. What is the transformation of y =2(x—9)* -3 from the parent graph y = x>? A Y @
N T~
q—>,3q/, Verfical Steton by ke oF 2 Mix [y 4
23. Which could be the graph of y = x*-59 X"'L‘jz M

5% >by =+Y
A) B) C) -Sx-Sy= 30

y ¥ y N=Y

A L

10 X -\‘10 -'5 fl') ”7‘07" -10 - - 10X

24. Simplify: (3’ —4x+5)-2(4x* +3x* —5x+1) 25. (3x* -5 + 7x+4)+(x-2)
3 2
“5Sx -0 Hox +3 2Py 2xm| v 22

26. Graph |3x + 2] —4 > 2 on the number line. xf‘?—

de—— by

yz1 3’/} # Y x+2y+z=10
27. Graph: {x<6 28. Solve the system: {2x—y+3z=-5
| y<2x+1 2x-3y—5z=27

Find the corner-points of the feasible
region. Use these corner-points to find the (,7‘, 4 [ ”S)

maximum and minimu}e values using f(x,y)=2x-3y

' ™ (O ) \\ 29. Convert the following
: b Qé\ \ \ ~a. 52 miles per hour to feet per second
/" : (6, \3\} b. 123,000,000 centimeters to kilometers
ik / e Nous jwile 36odseC

\C((o,\\;. ;}3 o) 22,0000 G wle \owﬁ@
£lb\)= MaX
£ (pp3)= 2t min



